EARAZROREIERT — 2 N—XBISY —F 20175128258 (B) 10[E7KR3H

LA C 2 \# 5 %—i% ‘ (x42] 7 ‘ [3eEmsh]  — |4 (@) 14000 TR
[AE4£] 17 :200,000 ™ ~ 237%&:40,000”  337%&:20,000H” . 43&:14,000H 53 :6,000
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
- 403 | WA 1:30.5 1-1-1-1 | 39.8| — 1 458 | REEFIR (KR)
12| VY=L =-% 54.0 o L |LHAET
AZ:aArFaAdy b BYYZURILLF fidrabae]
s, B4 | AME 1:30.6 4-3-3-3 [39.6| — 2 451 | BREHBLE (BEFE)
2 1 T+—Fa>v 54.0 (7€) (-8) 7(%'%‘1%_7-
R:TA—T4FAF—XY> B:vI—U4—-> pAllbse)
. BRRE :30. 02~ . — 1k hEl (KR
W 7rvET i 5 e 1(73(1):53 2-2-2-2 | 39.8 4 ;1:&71) s
RiTF—FAFAF =Y B:¥FTTU—b ME EE
o 5K : —6-5- - FEF= (ERE)
4 KN 3 LA - I ad ¥%53.0 1'(331)'1 6654 |37 i (4_425) mlﬂag_
R:vA NS5 BiRT15T B EE
R . B4 | AKERE 1:31.5 9-8-7-7 |39.4| — 8 505 | HHEE (KiR)
5/7|8|7774Fa—FkK A52.0 2 1/2) 13 | B) x=257
R:T—U 74— B:AFI4FT VDAY ¢ ]
N 4 5 | HEEE— 1:31.9 5-5-5-6 | 40.4| — 5 454 | /NEEEAE (BERE)
6|8l9| h—a—Un=x 6.0 21/2) o |FEEA
LN-—ErVrv— B:vAM54714—X J—HrTr—LA
o3 § B4 | AFHE 1:32.1 3-4-3-5 |41.1| — 10 | 414 |f&RF (BER)
71717 O—X<+v K7y 54.0 (1) o) RiBE—
RN—E>Tr— BYvRuTrA0 RS
N LA : —7-9- — AEEE (BRE)
glsls|TXUTL o4 o 1.(332).6 7-7-9-8 | 40.3 3 ?:355) i
R4 JF¥LLy b BVLHFRN—52— E R
4, = 44 | PIEBREMR 1:32.6 10-10-10-10{ 39.8 | — 9 419 | IEfF (EEM)
9 4| EVATT 56.0 () (1) | XIBE—
R:TAr—FT14F4F—-XY> B:XYzF7bhIvan Fy o amEEMASH T adK
S BREE :33. —9-8- . — 1REEFD (KR)
1olsliol 77791 % it 6 ol 1(333)1 8-9-8-9 | 40.7 6 (4+642) iy
L:Urh—r B:xRAy bEAY 'E BE
® 1—F—@EBIERL
1T=7r= 2,6,7,1,9,3,5,10,8,4
23— — 2,6,1,7,9,3,5,8,10,4
30—7+— 2,6,(1,7),(3,9),8,10,5,4
43—+ — 2,6,1,3,7,9,8,5,10,4
[ N5
B 2 140 714K 1-2 130M e E 1-2 190M JEE 1-2-6 600
B B 2 100 2-6 260 B = 1-2 190 EE 2-1-6 1,450
1 120M 1-6 460/ B H 2-1 300
6 170M

ABICOVWTRDTEEERROODE. TR LIV,



